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&) = 30010 Creep coefficient 1.6, f, = 1500MPa, consider normal relaxation loss
of stress in steel.

Q4 (a) A prestressed concrete beam 150mm wide and 400mm deep of span 10m which 10
is simply supported in nature is subjected to a live load of SKN/m. A prestressing
force of 180KN is applied at an eccentricity of S0mm. Take density of concrete
characteristic strength of concrete as 24KN/m’. Assuming a loss
0.85.charactristic compressive strength of concrete is 40Mpa design

shear.

(b) A prestressed concrete beam of section 200mm wide and @ &ﬂp isused 10
over an effective span of 8m to support an imposed load . The density of
concrete is 24KNm®. At the centre of span section of th the magnitude of

(i) the concentric prestressing force necessary for \n stress at the soffit when
the beam is fully loaded

(ii) the eccentric prestressing force n : 100mm from the bottom of the
beam which would nullify the esses due to loading.

Q5 (a) Explain in brief ab %‘mmmmmmh 5

of 100mm with in the middle third of the span and vary linearly from
% span points to zero atﬂmasuppoﬂs.'rheamoftheurdomhpﬂmmm’

\ g a effective prestressed of 1290N/mm? immediately after transfer. Calculate
the short term and long term deflection. {
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